= A
N & 0 & AFS S Al A
20228 204 LBHEIH SAID
SMH: SAID
M CADNL(RELX AN/ AL EAI)
Sl TAESY (Sl Eel)
- _ _ bSIE =
2A -3 A2(ZH) - MIRAR - BES 04| Ao ‘@Eou Hns2
Al 9,051,434 9,524,198 NAT2,764
= 2,135,000
[ 680,000
Al 6,236,434
CADHE (Z2ELX SN/ X HLEAl) 8,672,059 8,954,327 282,268
= 2,135,000
[= 680,000
Al 5,857,059
CAIHE 2R 348,723 2,643,618 N2,294,89%5
CAIHE 2 315,900 2,610,795 N2,294,89%5
201 LEH2 Y] 62,400 62,400 0
01 At222IH 25,900 25,900 0
OZAIES 3| 50,0002 » 122 600
OZAIZ2IHE () F=0IQAES A2 202
1,500,000 * 2JHA} * 33 9,000
OZAHE oS 2Tl 93 P (44)
1,000,000 * 1CH * 43 4,000
OEZAIHERRF 12,300
—EN4H(D2) 70,0002 * 169 » 63 6,720
—ZM 2 ZE) 30,000& * 16 * 63l 2,880
—Z 01| 90,0002 * 5% * 63 2,700
02 2229 36,500 36,500 0
OZAHEFHZMAH(UPIS) S22
14,500,000 * 14l 14,500
OZAIHEHEHZBHH 0B RAE4
22,000,000 * 1Al 22,000
203 L2=ZIH| 13,500 8,955 4,545
03 AR =ZIY| 13,500 8,955 4,545
OZFQAIE QALY =& 2,000,000 * 14! 2,000
O2ENLHE J2 =X 2,000,000 * 14! 2,000
OXIZIHL ALY =2 2,000,000 » 14l 2,000
OZAIHEAL =3 1,000,000 * 14l 1,000
OZAIMHA ARAIY 22 S g2FA
1,500,000 14l 1,500
OFDI=JAIE g =& 1,000,000 * 14l 1,000
O8It 2t AL =& 1,000,000 * 14l 1,000
Oste e 9L =3 1,000,000 * {14l 1,000
OAEXE 92 =& 1,000,000 » 14l 1,000
OEX 38 & 22| g2 =&
1,000,000 14l 1,000
401 Al&HILEHYI 240,000 2,520,000 A2,280,000
01 Al&H] 240,000 2,520,000 A2,280,000




SN

B CADHZ(RELX SN/ NHLEA)
chel: TANEA (SH9): &)
- _ _ HEAS
A - B SRA(Z) - MRAY - BES Ol &kt 01l AkoH HwsS2
OgZelIE +8 29
200,000,000 * 14! 200,000
OZAHSTZ 2T S 40,000,008 * 14 40,000
TAE el 3,823 32,823 0
305 tha2S 3,823 32,823 0
01 BhA2S 3,823 32,823 0
ORLOISD(TRAIRR) XIZ(2w)
397,7002! * 122 4,773
OSYISS(SEAEE) XS (E, GHUS)
211,502 * 122 2,538
OSLOISD(TRAIRR) XIS (Hi)
284,002 * 122 3,408
ORYOISS(TRAER) XIB(Ew, IFS)
1,842,008 + 122 22,104
SADIPES 3,356,288 3,409,899 153,611
< 240,000
Al 3,116,288
SAHEE2HA 690,000 2,465,000 A1,775,000
401 AlZHIL 2T 690,000 2,465,000 A1,775,000
01 AIZH] 685,680 2,447,702 A1,762,02
OMYE HEMR 012 CAIHETR(A3-175)
IHABAHEH) 10,000,002 * 14! 0,000
OBJIg 2189 5| TAHNTZ HEBA
1,000,002 * 200m * 99.28/100 198,560
OZJle B&E2 CAHHETR HEZA
100,000 * 500 50,000
O2)Ig 258D | SAHEEE HEBA
1,000,002 * 200m * 99.28/100 198,560
OIS 1FD MAUBA EIFEAES
150,000/ * 200 30,000
OB)IS n&E2 TAHHSZ(£2-503) A
A 2,000,002 * 50n * 99.28/100 99,280
OB HF2l Aa=s 5 SANEE
HEZA 2,000,002 * 50n * 99.28/100 99,280
03 Al SCHY| 4,320 17,298 A12,978
OBJlg 2)I18Y 5| TAHSTZ2 HEBA
1,000,002 * 200m * 0.72/100 1,440
O2)Ig BIIZ8D 5| SAHETR HEBA
1,000,000 * 200m * 0.72/100 1,440
O2JIg &2 TAHNEEZ(42-505) HEBA|
2,000,002 * 50n * 0.72/100 720
OBIIg M2l Qass § SAHSEE HEBA)
2,000,002 * 50m * 0.72/100 720
TAHERH 222 2,102,000 764,165 1,337,835
301 LBHRFI 2,000 2,000 0




S SAD
F: CANL(SELNANL/NHLEAI)
Celr CAD|BIEN (&2 AR
- _ bSIE =
2A -3 A2(ZH) - MIRAR - BES 04| Ao 0“1“;0” Hns2
12 JIEI2 A2 2,000 2,000 0
OCIZIIE S 2AAl Atdl XIZHI
200,000 = 10 2,000
401 A& HIZ 201 2,100,000 762,165 1,337,835
01 Al&H] 2,084, 160 756,459 1,327,701
OAIDHRI QI 21284
1,000,000 * 1502 * 99.28/100 148,920
OL==sn Hb| ¥ HIJI2 &XI2A
100,000,000 * 224 * 99.28/100 198,560
Oals D02t E QICIHETAL
1,000,000 * 200m * 99.28/100 198,560
O2FE MOISSI~ZC|H2t QITHH|2A}
250,0002 * 400m * 99.10/100 99,100
OFHES Hpb=~ 'EPJXHDJ OIZXH|Z2 A
250,0002 * 400m * 99.10/100 99,100
OFME S22 2 Q| 2MHA(MEXID, ZEAIF)
OIZXH|Z A 198,560
250,000 * 800m * 99.28/100
OEJIg SH=stn 212 ATHH|IZA
250,0002 * 400m * 99.10/100 99,100
OIS Y2 012 2 244 QAIEHH|ZA
250,00024 = 1,400m * 99.28/100 347,480
OJIEE RAHOHIE 22 2 1HA(ABESHS)
CIEEXT AL 500,000 * 500m * 99.28/100 248,200
OZYUx U N2E Q| 2MHA(BES2, S2AIF)
QI IHEZAL 198,560
500,000 * 400m * 99.28/100
OAS DOIZ0HIE Q| 2JfA (2R, & XI)
OIZXY|Z A 198,560
250,000 = 800m * 99.28/100
OZONoI=2 X2 & I IHA AR (Z=01EHO 0f AF)
1,000,000 * 50m * 98.92/100 49,460
03 Al&EHH 15,840 5,706 10,134
OAIDHK| QIE 21284
1,000,000 * 15024 * 0.72/100 1,080
OL=8n HH| ¥ HIJt2 &XI2A
100,000,000 * 224 = 0.72/100 1,440
OaldE A0I2~h2=2tE QICIHETAL
1,000,000 * 200m * 0.72/100 1,440
O2F s MOISRSZ~ZC|E2t QITHEH|ZA
250,000 * 400m * 0.90/100 900
OFHES GAE~L2HHZE QIS EH|ZAL
250,000 * 400m * 0.90/100 900
OEFE M2 2 Q| 2MA(MESXIT, ZHAIE)
OIZXY|Z A 1,440
250,0002 * 800m * 0.72/100
OZEJIg SH=stn 212 ATHH|IZA
250,000 * 400m * 0.90/100 900




SH EAID
ZH: CAN(ZELXI PN/ N HLTAI)
=]

S| TAD|EFRY (G2 &)
o - . HEe =
2A - 3 HR(SH) - NISAY - BES O AkH '@Eou Hwns2
OZJIg €83 212 2 204 OIE=HHIZAF
250,000 * 1,400m * 0.72/100 2,520
OJI=s 2YOHIE F2 2 1HA(AEEMH)
Ol StE S A} 500,000& * 500m = 0.72/100 1,800
OFLx L AExX 2 2AN(BEES2, S2AIA)
QI A S AL 1,440
500,000& * 400m * 0.72/100
OAYs DOIFOHUE 2| 2JfA (ZH2RE, A X&)
OI-AH|ISAF 1,440
250,000€ * 800m * 0.72/100
OZEofeI=X2 & QNS AP (Z=CIE O 0l A
1,000,000& * 50m * 1.08/100 540
SAZ2EA 7,500 11,000 A3,500
201 23| 7,500 11,000 A3,500
01 AtR2t2lt| 7,500 11,000 A3,500
OfAds(da, s3x8s, 330X 39
A ACh 7,500
—3|o|EA Y 70,000& * 159 * 53 5,250
—AMNEBESE 30,000& * 15Y * 53 2,250
TAZZAIE 222 76,788 169,734 292,946
101 elA4b| 8,208 7,814 3%
04 J1I2tHI22sEs 8,208 7,814 3%
Og=s =0 ¥ 232 )12l sF3&H| o1F2
73,2803 * 298 x 7 * 8E 8,208
201 28-23| 55,580 105,920 A50,340
01 AtR2t2lt| 28,220 61,280 A38,060
Og=s 22U 2 Z3t2| JHel &2l 27,070
—&HAEBE P 50,000& * 5& 250
—&HE A= 2 15,000& * 43| = 7& 420
—afd S A Y
1,100,000& * 43| » 6& 26,400
OLANE (DT 240, 2312 Hel 2401)
=&F3 50,000& * 204 = 4& 400
Ot & 383J|& JI2s szl
50,000& * 15002 750
02 ==234| 27,360 44,640 217,280
Og=E 20 &I & Mok 2=
1,000,000& = 12& 12,000
Og=s =32 el &I & &ote=E 23
600,000& * 12& 7,200
Og== =39 el LY T8= 1Y
He=2 50,000& * 12& 600
O3 s M= 180,000& * 12& 2,160
Ostn & 37|12 Jt2s &J|Ie3
30,000& = 15004 = 12& 5,400




SN

B2 CADNL(ZELXI N/ NSLEA)
Sl TADIBIEA (Sl &8
- _ _ HEAS
A - B SRA(3H) - HRAY - BES Ofl &b oK 01l AkoH Hlws2
401 Al&BIL=CHY] 13,000 56,000 243,000
01 AlZH] 13,000 56,000 A43,000
OYFES 240 AILS RRIZ2I(ZY S)
3,000,002 * 141 3,000
OYZFE 252l el R (BT, 240
x3 5) 10,000,000 * 14} 10,000
(S)282l el T2 bl Mg 480,000 0 480,000
= 240,000
Al 240,000
401 AlBILSCHY| 480,000 0 480,000
= 240,000
Al 240,000
01 AIZH] 476,544 0 476,544
O=stol Hel €2 Fyl Sk
480,000,002 * 99.28/100 476,544
< 240,000
Al 236,544
03 Al&SCHY| 3,456 0 3,456
OSstol Hel €2 Hyl Ik
480,000,008 * 0.72/100 3,456
CixeIz2| 290,051 1,544,378 A1,254,327
< 100,000
Al 190,051
CIxrel 22l 9,051 337,378 ~247,327
201 Yer2| 17,000 4,600 12,400
0T AFR22iH] 7.200 1,800 5,400
OBTORQN(AEF) LIIHSI} SIOI&A +8 6,600
—3lo &AL
70,0002 * 1% * 12 * 43| 3,080
—ARHESY
30,0002 * 1% * 124 * 43 1,320
— st 30,0002 * 113 * 12 * 43| 1,320
—AlH| 20,0002 * 112 * 12 « 43| 880
OJIEH AS B3| 50,0002 * 122 600
02 22| 4,800 2,800 2,000
OB2RI(&I|,4E) 4,800
—HUAE BABS ®IIR3
200,002 * 122 2,400
—2=2 AT SUAY DTS
200,002 * 122 2,400
03 AR Y| 5,000 0 5,000
OB3CIRe! T3 JHE 5,000,000 * 14} 5,000
01 YPSHI 53,051 52,778 273
12 JIEr2AS 53,051 52,778 273




2A: SAD
MR CANH(REL NN/ AL A
o2l CIRrer2e| (&2 A&)
= X XH oIS = Ve ==} OH EL‘EE =2}
OCAREZT 08 Ag
371,813 = 1H x 53| « 12& 22,314
OTARSZRG BEARI} 48
371,891& = 3H * 23| » 123 26,777
OZAAs2H2H =5 3,960
—WSH(ZAIASFZEIHE)
30,0002 = 1% * 53| » 123 1,800
—WEH(S32AFI)
30,000& » 3H * 23| » 123 2,160
401 AIEHIZL 2L 20,000 0 20,000
01 A&t 20,000 0 20,000
OZAIZZHAIY AIEZE RAES
20,000,000& = 1A 20,000
(D)2=2 X SAAIY 200,000 0 200,000
= 100,000
Al 100,000
401 AIEHIZL LU 200,000 0 200,000
= 100,000
Al 100,000
01 AIZE] 200,000 0 200,000
Om=2 DA HAAY
200,000,000& = 14! 200,000
= 100,000
Al 100,000
ALTH A4 4,676,997 1,356,432 3,320,565
= 2,135,000
= 340,000
Al 2,201,997
SSAITHAY 410,999 532,432 A121,433
101 21244| 24,502 23,704 798
04 JIZtHI2 2 RS E= 24,502 23,704 798
OSAMMX2HE 2 MRS o2 24,502
=JiE2= 75,6243 * 1H » 2482 18,755
—=5==g 75,6243 » 19 * 52 3,933
—AXNREF ==L 75,6243 » 19 * 12 908
—Al2I2| 225
15,100& * 1 * BAI2t » 128 906
201 Let2ZH| 87,282 66,890 20,392
01 AtR2telt| 52,346 46,370 5,976
OZAIHY SEAIH (ZF=AY) HEXIRHH
A= 600,000 * 123 7,200
OZAIHMXIAME 29001, 8%) 4,616
—SAHEX 16,0003 » 8HA « 123 1,536
—a2 so2teltl 2,600




2 SAlID
BE: CANH(RELXI DN/ N HLTA)
Sl CATHAY (9l 2)
S - BB ER(H) - MIRAR - BER of e G mE=T
- SAD| Bl 200,000& = 52| = 1CH 1,000
ZElf U 200,000& = 53|  10H 1,000
- J|E} #=clH] 50,0008 = 123 600
—JIEt AR2telI 5,000& » 8% » 123 480
OZAITHEAIY JIE3 HIEH
10,0002 = 1,0007H 10,000
O AL SH (2 FRIAYH N2SI2
2,000,000& = 2JHAt * 22 8,000
OZAINEREE L AHBFEF2D 29 18,720
—3loFAa=g(012)
70,0008 * 128 * 123 10,080
—3AZA (=)
30,0002 = 128 * 123 4,320
—32F A 0| 30,000& » 128 = 12%] 4,320
O3t d4U30Ix, 43hH2d 2,540
—s=g 50,0003 * 54 * 23 500
— W HIZ 10,0008 » 30& * 23] 600
—JIEH AtR 22|
3,000& * 30F = 8= * 23| 1,440
OZAINEUe us 2| 1,270
—&=2 50,0003 » 52 * 12 250
— WA RIZ 10,000& = 30 = 12 300
—JIEL AtR 22| 3,000& » 30H » 8% 720
02 E=S=2gH| 34,936 20,520 14,416
OZAIMMXI ALY 2l 10,200
—&JIe=s 600,000& * 123 7,200
—Stes 200,000& = 12 2,400
—dotr=R= 50,0002 = 122 600
OZAINY SSAE JJIes
1,100,000& * 12& 13,200
OZAM A 2HA SSAIE 7R 2l
4,000,0008& = 14] 4,000
OdbIZ=tH s3] B2l S5
180,000& = 12 2,160
OHHI23HH A etM2e] 89
198,000 = 122 2,376
O TAIMY SN2 dE 3,000
—&Ie= 150,000& = 12 1,800
—Sties 100,000& = 12 1,200
301 LEEANZ 244,215 66,488 177,727
09 HALAHIXIE S 3,750 3,225 525
O AIME2o] B AAL HIS
7,000& * 158 * 102 1,050
OZAIMEE 2L S H&X Ast
90,0008 » 15& * 23] 2,700




SH: SAID
B2 CANL(RERXSHL/NLUEA)
Chol: TAITHAY (EH9l: @2)
- _ _ HEAS
A - B SRA(3H) - HRAY - BES Ofl &b oK 01l AkoH Hlws2
12 JIEr=EaE 240,465 63,263 177,202
OZAIHMRIZME HER BE4c
371,891 « 43| + 1% + 122 17,851
ORCIUIOIE BS4+g 108,545
—BOU0IE SS+SH(SFAY, ZIIS)
371,891 « 43| * 5% + 12 89,254
—DSH|(SFHL)
30,0002 « 43| * 1% « 128 1,440
—3CY0IE ES4S(L, SX)
371,891 « 43| « 2% « 6% 17,851
OZAINY &St 2542 96,390
—$S0} FSAY(HEHAD)
11,2502 * 1% * 7AI2E 222 « 128 20,790
—SAY EEI} FSAH(SFAY, 2II3)
90,0002 * 118l * 5% + 12 59,400
—SAIHY EEI} BSAH(LN,EX)
90,0002 * 153| * 2% * 62 16,200
OZAITHATHE! DK (LASD) 2,960
—1ZLAOIR) 250,0002! * 8% * 18] 2,000
—1ZLAHED) 20,0008 * 8% * 13l 960
OBSI YLBY DR(AAMLY) 5,920
—1ZLAOIR) 250,0002! * 82 * 23| 4,000
—1ZLAHED) 20,0002 * 8% * 23] 1,920
O2THAANIE 2R 2 S| 8,799
—gr=t| 450,008 * 122 5,400
—AlH| 8,002 * 28| + 122 2,112
— S| 2,602 * 23| + 122 687
] 50,0002 * 13| + 122 600
307 21201 F 0,000 7,500 2,500
02 QB AARER 0,000 7,500 2,500
OZAITHA FOIBD o ARD HILAIRI(ZA)
(2XE 90%) 2,500,00021 * 442 0,000
401 AlBILSCHY| 45,000 50,000 5,000
01 A&t 45,000 50,000 5,000
OZAITHY AlES SRS
45,000,008 * 141 45,000
(2) 22X SHZE(SAI) (SO E0HE) 548,999 824,000 £275,001
2 385,000
< 48,000
Al 115,999
01 YUSHI 29,731 0 29,731
12 JIEr2AS 29,731 0 29,731
OME0I2 A 2OIUI0IE BE4g
371,891 « 43l + 1% « 122 17,851




SH EAID
ZH: CANS(ZELXI N/ N HLTAI)
Crel AT (Sl &8
- _ _ HEAS
A - B SRA(3H) - HRAY - BES Ofl &b oK 01l AkoH Hlws2
ONMENSAY 250f 254
90,000& = 1138] » 19 » 128 11,880
401 Al&HIZL 0| 519,268 474,312 44,956
[ 385,000
= 48,000
Al 86,268
01 AlZHI 515,997 470,896 45,101
OBHEOE ME02 AR
519,268,000& * 99.37/100 515,997
= 385,000
S 48,000
Al 82,997
03 A& 01| 3,271 3,416 A145
OBHEOt MEOHSAIY 3,271,008 * 14] 3,271
(2)SATHS LA (SHAIITE) 2,916,999 0 2,916,999
s 1,750,000
S 292,000
Al 874,999
201 Le+2gH| 80,000 0 80,000
= 48,000
= 8,000
Al 24,000
03 EAFESH] 80,000 0 80,000
OSUNR TAMMSE Het2 SH N
80,000,000& * 14! 80,000
= 48,000
== 8,000
Al 24,000
207 AN 270,000 0 270,000
= 162,000
< 27,000
Al 81,000
01 g1E4d| 270,000 0 270,000
OUNZ TAITHA RS AR (FOIFOPDISY &
A2 AHIATIA JHA) 270,000
270,000,000& * 1Al
= 162,000
= 27,000
Al 81,000
401 AlEHIYL 01| 2,566,999 0 2,566,999
s 1,540,000
S 257,000
Al 769,999
01 Al&H] 2,557,758 0 2,557,758
OANA TAITHA S AR
,566,999,000& * 99.64/100 2,557,758
= 1,540,000
< 257,000




2 SAlID
3 CADHZ(RELXGNL /X SLEA)
CHel: S AITHA (el &)
S - R - SRIEH) - ARAY - BAS e G HIDE2
Al 760,758
03 AIZS0HY 9,241 0 9,241
OFMA SAIMMMFEAE  9,241,0008 » 14 9,241
CAITH 7 EAS (SEAIDEKIE) (XHA) 800,000 0 800,000
401 AlEHIYL SO 800,000 0 800,000
01 AlZH] 800,000 0 800,000
OGN A =EAS
800,000,000& * 14 800,000
= 8 HE (MRS XI/==) 38,100 71,279 233,179
FHEZ A ALY 38,100 71,279 233,179
CAISEA oA 38,100 71,279 A33,179
101 el24b] 1,100 6,279 Ab, 179
04 JRIH2ZNS 2% 1,100 6,279 £5,179
Ot 28 U shEa 22| oy
9,160&  4A12+ » 3 = 103 1,100
201 feh=2 & 7,000 15,000 28,000
02 5= 7,000 15,000 /8,000
OAI2ZH|] SIS0, &2, 38 )
700,000& = 102 7,000
401 AIZHIZ S0 30,000 50,000 220,000
01 Al£H] 30,000 50,000 220,000
O&fZAl 2& & HiEE+ =018 EH
30,000,000 = 14 30,000
22 (FELX XL/ XALEAI) 67,080 105,480 238,400
S22 67,080 105,480 /38,400
222 67,080 105,480 /38,400
201 k=& 43,080 43,080 0
01 At=2teld| 6,720 6,720 0
ORFT +-AA 248 600,002 * 42 2,400
O2&8 M= 1,800& * 1,200& * 22 4,320
02 5= 36,360 36,360 0
O=2d8 &= 3,000,000& * 12& 36,000
O=2d8s k= 30,0008 » 123 360
401 AlEHIZL SO 24,000 24,000 0
01 AlZH] 24,000 24,000 0
O=Z2H 288 2HE LH(30HZ)
3,000,000& » 24 6,000
o288 HNAREH £5 WA
500,000& = 24 1,000
Obf=Z= ==2|(30HpS) 2,000,000& * 1CH 2,000




S SAD
HHM: SQEZUL|(2ELXIHIHL /X HLTA)
& SII2FHE 2l (G2 &)
- _ _ bSIE =
2A -3 A2(ZH) - MIRAR - BES 04| Ao 0“1“;0” Hns2
O=2FZ =0 WHI(AH 30Hp)
10,000,000 = 1Al 10,000
O=2& 4 %Xl ¥SWHI(1,200€)
2,000,000 {14l 2,000
OZ2EHI DA 2 £2/(30Hp)
3,000,000 * {4l 3,000
ZNE DE(2ELXGIHY/XALZAI) 59,740 56,553 3,187
29|22 HH| 59,740 56,553 3,187
202 A 59,740 56,553 3,187
101 Q1244 14,070 10,883 3,187
04 DIt RIS E S 14,070 10,883 3,187
O2Y ZDS &HH| 2
73,2802 * 198 » 162 * 129 14,070
201 LEH2 Y] 1,700 1,700 0
01 At22elH 1,700 1,700 0
OZDESHH| &2 M
60,0008 * 5& * 23] 600
OZNE Yl &7 FY(LH, s MHI S)
400,000 * 1Al 400
OZDSZ2IRANE| EA 2
0,000 * 5% * 23] 700
301 LB 16,970 16,970 0
09 SAIAHIXIR 2 450 450 0
OF ZDSA FA0H 90,0008 » 5% * 1 450
12 JIEtB A2 16,520 16,520 0
O|E SYHIDE 21242 I3 15,720
—HE, MO SO ) BAS
1002 * 150,000% 15,000
—EH0 2 BAZ 2,000 * 360%t 720
O ZNSUHA EZHEH| X
400,0008 * 2& * 13 800
401 Al&HIZ Y] 27,000 27,000 0
01 Al&H] 27,000 27,000 0
OBBE2XUT|IAIL &R 00,0002 * 40IHA 4,000
O824t HAILH HHI & 0|4
3,000,000 * 2JHA 6,000
OBI2=0(5E) HAITH &X
7,000,000 * 2014 14,000
OXMEHs &40 HAI AX
1,500,000 * 2JHA 3,000
SN SHAH| (AL (DIEHIIE 214,455 167,327 47,128
ol 2| 90,449 39,871 50,578
ol 2| 90,449 39,871 50,578




A AT
& AH2SIHI(ZAIR)(IIEHIIEH
chol: ol (el &)
S - R - SRIEH) - ARAY - BAS e G HIDE2
101 el24H] 88,821 39,871 48,950
02 JIEtAE %= 44,494 0 44,494
SN BEXME SHOIS(AZEEL)|
Hoes) 44,494
—Jl== 2,859,930 » 18 » 12& 34,320
—IEE 1,680
SN 40,0002 = 1& 128 480
JIEHR2, HMXHA)
20,0008 » 2 * 12& 480
- S 60,0003 * 198 » 128 720
—Al2tels=&
9,832 » 1& = 20AI12t » 123 2,360
=R r=tala] 140,000& = 18 = 128 1,680
— oot a|
2,859,938 * 84% * 86% * 1/30 = 1/7 * 84AIZt 827
—S+22xg 137,270& * 198 » 128 1,648
—8AS 64,8509 » 18 « 122 1,979
03 2R (RI1H ) 222+ 44,327 39,871 4,456
o=xdzsaeld 44,327
—Jl== 2,215,680 » 18 » 123 26,589
—JEsIHI
2,215,680 » 75% » 18 » 23] 3,324
—gd2=E 2,215,680 = 50% » 18 » 23 2,216
—IEE 1,440
- B At 40,0003 » 1& » 128 480
I AHA 20,000& » 18 » 128 240
ELUPE 60,0002 = 1& 1238 720
—Al2telgt
13,1273 = 150% * 20AI12H = 1€ » 128 4,726
—sgaesy
105,016& = 150% = 18 = 10& 1,576
—dRsRt=g 105,016% » 1¥ « 15 1,576
=R r=tala] 140,000& = 128 1,680
—uwS2 x| 100,000& = 12 1,200
204 2R HH| 1,628 0 1,628
02 Mg 22| 1,628 0 1,628
O%AMA SHXALE ARIEERAD|HI(2HS)
AZEXHl 155,000% * 35/40h * 1H = 123 1,628
Jl=34 124,006 127,456 A3,450
Jl=& 124,006 127,456 A3,450
201 k=2 27,946 27,946 0
01 AtR2t2|H 27,946 27,946 0




2 SAlID
Mo wB2AA(SAIOIEHIIED
el Jl=3l (el &)
S - R - SRIEH) - ARAY - BAS e G HIDE2
O=SAMEX 7Y 16,0003 » 212tA = 123 4,032
OSZ2=4 7,0008 » 64l = 219 » 128 10,584
Ogttez 100,000& = 12 1,200
Oan2 EA7H 50,000& * 12& 600
Oanl =&2tel] 10,270
—= A =2l 1,000,000 * 1.5CH 1,500
—IglH =2 100,000& = 5CH = 50/100 250
—=SADI EY 200,000& = 52| » 1.504 1,500
—Ogle EH(S%)  200,0002 = 53] = 504 5,000
—Iglel EW(Z)  200,0008 = 53] = 1CH 1,000
—PC #=cl 100,000& = 21CH = 20/100 420
—JIEt =cltl 50,000& * 12& 600
OJIEH AFR2t2IH] 5,0008 » 21 1238 1,260
202 O 83,160 86,940 A3,780
01 =LHAHI 83,160 86,940 A3,780
O2tLHNLI 20,0008 » 218 « 122 » 123 60,480
O=2| 0| 90,0008 = 219 » 12 22,680
203 gF=&i| 7,500 7,170 330
01 V| 2A=2E YR8 3,300 2,970 330
OZAAE=E J2A2L SR
3,300,000& * 1 3,300
04 FEXZEHRFAI 4,200 4,200 0
ORAN2E LR 350,000& = 12 4,200
204 2R+ HH| 5,400 5,400 0
01 A Z LR+ 5,400 5,400 0
OX#BYUL LAY 5.400
—EARAE=E 350,000& = 1& » 123 4,200
—ZAILE 100,000& » 1& = 128 1,200






